NO	ITEM	MOU	QTY		PRICE	EXTE	NDED PRICE
Section	1 - Semi-Annual Inspection an	d Mainte	nance				
1	Unit 1 - Cummins	EA	4	\$	413.00	\$	1,652.00
2	Unit 2 - Onan/Cummins	EA	4	\$	413.00	\$	1,652.00
3	Unit 3 - Cummins	EA	4	\$	413.00	\$	1,652.00
4	Unit 4 - Caterpillar	EA	4	\$	413.00	\$	1,652.00
5	Unit 5 - Perkins	EA	4	\$	413.00	\$	1,652.00
6	Unit 6 - Caterpillar "A"	EA	4	\$	413.00	\$	1,652.00
7	Unit 7 - Caterpillar "B"	EA	4	\$	413.00	\$	1,652.00
8	Unit 8 - Caterpillar	EA	4	\$	413.00	\$	1,652.00
9	Unit 9 - Kohler	EA	4	\$	413.00	\$	1,652.00
10	Unit 10 - Kohler	EA	4	\$	413.00	\$	1,652.00
11	Unit 11 - Allis Chalmers	EA	4	\$	413.00	\$	1,652.00
12	Unit 12 - Caterpillar	EA	4	\$	413.00	\$	1,652.00
13	Unit 13 - Olympian	EA	4	\$	413.00	\$	1,652.00
14	Unit 14 - Onam	EA	4	\$	413.00	\$	1,652.00
15	Unit 15 - Cummins	EA	4	\$	413.00	\$	1,652.00
16	Alternate - Unit16	EA	4	\$	413.00	\$	1,652.00
17	Alternate - Unit 17 Cummins	EA	4	\$	413.00	\$	1,652.00
18	Alternate - Unit 18 US Motor	EA	4	\$	413.00	\$	1,652.00
19	Alternate - Unit 19 Kohler	EA	4	\$	413.00	\$	1,652.00
20	Alternate - Unit 20 Kohler	EA	4	\$	413.00	\$	1,652.00
ection	2 - Additional Services Includi	ng Labor	Total				
nit 1 - C	Cummins						
	Complete system Infrared Insp	ection en	gine to tra	nsfer sw	itch	\$	25.00
	Emission Test					\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter						25.00
	Oil and Filter Change						484.00
	Fuel Filters						40.00
	Anti-Freeze Test						75.00
	Lube Oil Test						50.00
21	Fuel Sample Test						225.00
21	4-hour Load Blank Test					\$	1,091.00
	Single hour Load Blank Test				645		
	Vibration Test					\$	25.00

	Flush, Drain, and Fill Coolant	\$	1,634.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.0
	Replace Belts	\$	865.0
	Replace Air Filters	\$	396.0
Jnit 2 - (Onan/Cummins		
	Complete system Infrared Inspection engine to transfer switch	\$	25.0
	Emission Test	\$	25.0
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.0
	Oil and Filter Change	\$	537.0
	Fuel Filters	\$	36.0
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
00	Fuel Sample Test	\$	225.00
22	4-hour Load Blank Test	\$	967.0
	Single hour Load Blank Test 483		
	Vibration Test	\$	25.0
	Flush, Drain, and Fill Coolant		915.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	220.0
	Replace Air Filters	\$	75.0
Jnit 3 - 0	Cummins		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.0
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change		645.00
	Fuel Filters		28.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
00	Fuel Sample Test		225.00
23	4-hour Load Blank Test		1,021.00
	Single hour Load Blank Test 623		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	1,211.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00

	Replace Belts	\$	182.00
	Replace Air Filters	\$	137.00
nit 4 - (Caterpillar		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	1,575.00
	Fuel Filters	\$	177.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
24	Fuel Sample Test	\$	225.00
24	4-hour Load Blank Test	\$	1,129.00
	Single hour Load Blank Test 752		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	1,612.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	503.00
	Replace Air Filters	\$	209.00
nit 5 - F	Perkins		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter		25.00
	Oil and Filter Change		1,575.00
	Fuel Filters		35.00
	Anti-Freeze Test		75.00
	Lube Oil Test	\$	50.00
25	Fuel Sample Test	\$	225.00
25	4-hour Load Blank Test	\$	1,129.00
	Single hour Load Blank Test 752		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant		913.00
	Valve Clearance		25.00
	Torque Bolts		25.00
	Replace Belts	\$	108.00
	Replace Air Filters	\$	56.00

	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	1,575.00
	Fuel Filters	\$	101.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
26	Fuel Sample Test	\$	225.00
26	4-hour Load Blank Test	\$	1,290.00
	Single hour Load Blank Test 940		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	2,064.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	930.00
	Replace Air Filters	\$	396.00
nit 7 - 0	Caterpillar Engineering		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	1,575.00
	Fuel Filters	\$	112.00
	Anti-Freeze Test		75.00
	Lube Oil Test		50.00
0.7	Fuel Sample Test		225.00
27	4-hour Load Blank Test	\$	1,263.00
	Single hour Load Blank Test 940		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	2,064.00
	Valve Clearance	\$	25.00
	Torque Bolts		25.00
	Replace Belts		930.00
	Replace Air Filters	\$	405.00
nit 8 - C	Caterpillar		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00

	Oil and Filter Change	\$	725.00
	Fuel Filters	\$	54.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
00	Fuel Sample Test	\$	225.00
28	4-hour Load Blank Test	\$	994.00
	Single hour Load Blank Test	645	
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	1,075.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	107.00
	Replace Air Filters	\$	124.00
nit 9 - k	Kohler		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	392.00
	Fuel Filters	\$	26.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
29	Fuel Sample Test	\$	225.00
29	4-hour Load Blank Test	\$	1,021.00
	Single hour Load Blank Test	645	
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	591.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	376.00
	Replace Air Filters	\$	155.00
nit 10 -	Kohler		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	392.00
	Fuel Filters	\$	26.00
	Anti-Freeze Test	\$	75.00

	Lube Oil Test	\$	50.00
30	Fuel Sample Test	\$	225.00
30	4-hour Load Blank Test	\$	1,021.00
	Single hour Load Blank Test 64	5	
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	591.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	376.00
	Replace Air Filters	\$	155.00
Jnit 11 -	Allis Chalmers Engine		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	522.00
	Fuel Filters	\$	26.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
31	Fuel Sample Test	\$	225.00
31	4-hour Load Blank Test	\$	1,021.00
	Single hour Load Blank Test 64	5	
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	591.00
	Valve Clearance		25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	376.00
	Replace Air Filters	\$	155.00
Jnit 12 -	Caterpillar		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter		25.00
	Oil and Filter Change		553.00
	Fuel Filters	\$	48.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
20	Fuel Sample Test	\$	225.00
32	4-hour Load Blank Test	\$	887.00

	Single hour Load Blank Test	376	
	Vibration Test		\$ 25.0
	Flush, Drain, and Fill Coolant		\$ 591.0
	Valve Clearance		\$ 25.0
	Torque Bolts		\$ 25.0
	Replace Belts		\$ 376.0
	Replace Air Filters		\$ 116.0
Jnit 13 -	Olympian		
	Complete system Infrared Inspection engine to trans	fer switch	\$ 25.0
	Emission Test		\$ 25.0
	Mega ohm meter Test of Strator, Rotor and Exciter		\$ 25.0
	Oil and Filter Change		\$ 322.0
	Fuel Filters		\$ 54.0
	Anti-Freeze Test		\$ 75.0
	Lube Oil Test		\$ 50.0
0.0	Fuel Sample Test	\$ 225.0	
33	4-hour Load Blank Test	\$ 806.0	
	Single hour Load Blank Test	322	
	Vibration Test	\$ 25.0	
	Flush, Drain, and Fill Coolant	\$ 381.0	
	Valve Clearance	\$ 25.0	
	Torque Bolts	\$ 25.0	
	Replace Belts		\$ 327.0
	Replace Air Filters		\$ 113.0
Init 14 -	Onan		
	Complete system Infrared Inspection engine to trans	fer switch	\$ 25.0
	Emission Test		\$ 25.0
	Mega ohm meter Test of Strator, Rotor and Exciter	\$ 25.0	
	Oil and Filter Change	\$ 284.0	
	Fuel Filters	\$ 38.0	
	Anti-Freeze Test	\$ 75.0	
	Lube Oil Test	\$ 50.0	
24	Fuel Sample Test	\$ 225.0	
34	4-hour Load Blank Test	\$ 806.0	
	Single hour Load Blank Test	322	
	Vibration Test		\$ 25,0
	Flush, Drain, and Fill Coolant		N/A

	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	198.00
	Replace Air Filters	\$	75.00
Init 15 -	Cummins		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	387.00
	Fuel Filters	\$	26.00
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
25	Fuel Sample Test	\$	225.00
35	4-hour Load Blank Test	\$	806.00
	Single hour Load Blank Test 322		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	306.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	188.00
	Replace Air Filters	\$	112.00
ection	2 - Alternate Additional Services Including Labor Total		
Init 16 -	Spectrum / Detroit Diesel		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$	258.00
	Fuel Filters	NA	
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
20	Fuel Sample Test	\$	225.00
36	4-hour Load Blank Test	\$	913.00
	Single hour Load Blank Test 349		
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$	306.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00

	Replace Belts	\$ 220
	Replace Air Filters	\$ 65
nit 17 -	Cummins Natural Gas	
	Complete system Infrared Inspection engine to transfer switch	\$ 25
	Emission Test	\$ 25
	Mega ohm meter Test of Strator, Rotor and Exciter	\$ 25
	Oil and Filter Change	\$ 279
	Fuel Filters	NA
	Anti-Freeze Test	\$ 75
	Lube Oil Test	\$ 50
37	Fuel Sample Test	\$ 225
31	4-hour Load Blank Test	\$ 1,053
	Single hour Load Blank Test 618	
	Vibration Test	\$ 25
	Flush, Drain, and Fill Coolant	\$ 591
	Valve Clearance	\$ 25
	Torque Bolts	\$ 25
	Replace Belts	\$ 220
	Replace Air Filters	\$ 65
nit 18 -	US Motor	
	Complete system Infrared Inspection engine to transfer switch	\$ 25
	Emission Test	\$ 25
	Mega ohm meter Test of Strator, Rotor and Exciter	\$ 25
	Oil and Filter Change	\$ 349
	Fuel Filters	\$ 91
	Anti-Freeze Test	\$ 75
	Lube Oil Test	\$ 50
38	Fuel Sample Test	\$ 225
30	4-hour Load Blank Test	\$ 1,053
	Single hour Load Blank Test 376	
	Vibration Test	\$ 25
	Flush, Drain, and Fill Coolant	\$ 483
	Valve Clearance	\$ 25
	Torque Bolts	\$ 25
	Replace Belts	\$ 188
	Replace Air Filters	\$ 65

	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.00
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$ 2	279.00
	Fuel Filters	NA	
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
00	Fuel Sample Test	\$ 2	225.00
39	4-hour Load Blank Test	\$ 1,0	053.00
	Single hour Load Blank Test 32	2	
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$ 4	483.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$	107.00
	Replace Air Filters	\$	161.00
it 20 -	Kohler		
	Complete system Infrared Inspection engine to transfer switch	\$	25.00
	Emission Test	\$	25.0
	Mega ohm meter Test of Strator, Rotor and Exciter	\$	25.00
	Oil and Filter Change	\$ 2	279.00
	Fuel Filters	NA	
	Anti-Freeze Test	\$	75.00
	Lube Oil Test	\$	50.00
40	Fuel Sample Test	\$ 2	225.00
40	4-hour Load Blank Test	\$ 1,0	053.00
	Single hour Load Blank Test 34	9	
	Vibration Test	\$	25.00
	Flush, Drain, and Fill Coolant	\$ 4	183.00
	Valve Clearance	\$	25.00
	Torque Bolts	\$	25.00
	Replace Belts	\$ 1	188.00
	Replace Air Filters	\$	65.00
CTIO	N 3 stes for Services in Addition to those Listed Under Section 2.		
41	Hourly Rates - Normal Hours M - F 7:00 am - 4:00 pm HR 48 \$ 165.00	\$ 7,9	920.00

				GRAN	D TOTAL	\$	138,044.00
45	Parts Markup from Contractors Two-Year Expenditure	Cost	\$10,000		66%		\$16,60
NO.	ITEM		EST. VALUE	% MARK	(-UP	EXT	ENDED PRICE
44	Call Out Service Call Charge	EA	16	* See Below0)	\$	
43	Hourly Rates - Sundays and Holidays	HR	16	\$	330.00	\$	5,280.00
42	Hourly Rates - Saturday and After Normal Hours M - F	HR	16	\$	247.00	\$	3,952.00

GRAND TOTAL

(In words) One hundred thirty-eight thousand, forty-four dollars and 00/100 Cents.

For BIDS

^{*} A minimum of four hours will be charged for emergency call out at corilating labor rate.

SECTION 8 - BID FORM SIGNATURE PAGE

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.



CORPORATE SEAL (If available)

BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR CONSIDERATION

Subscribed and sworn to before me this $\underline{5}^{t}$	day of <u>September</u>	AD, 20 <u>23</u>
	My Commission Expires: 4/2 Joanna Williamson tary Public, State of New York Reg. No. 01WI6374190 Qualified in Suffolk County mmission Expires 04/23/2026	3/2026

SECTION 9 - MANDATORY FORM SEMI-ANNUAL INSPECTION, PM & EMERGENCY CALL OUT SERVICE FOR BACKUP GENERATORS 23-099-FM

(PLEASE TYPE OR PRINT THE FOLLOWING INFORMATION) Full Name of Bidder Illini Power Products, a division of GenServe LLC Main Business Address 444 Randy Road City, State, Zip Code Carol Stream, IL 60188 Telephone Number Email 630-462-7280 pmservice-ipp@genserveinc.com Address **Bid Contact Person** Jake Brown The undersigned certifies that he is: Xthe Owner/Sole a Member authorized to Officer a Member of the Joint sign on behalf of the Venture Proprietor Corporation Partnership Herein after called the Bidder and that the members of the Partnership or Officers of the Corporation are as follows: (Vice-President or Partner) (President or Partner) (Treasurer or Partner) (Secretary or Partner) Further, the undersigned declares that the only person or parties interested in this bid as principals are those named herein; that this bid is made without collusion with any other person, firm or corporation; that he has fully examined the proposed forms of agreement and the contract specifications for the above designated purchase, all of which are on file in the office of the Procurement Officer, DuPage County, 421 North County Farm Road, Wheaton, Illinois 60187, and all other documents referred to or mentioned in the contract documents, specifications and attached exhibits, including Addenda No. 1, 2, 3, and issued thereto.

Further, the undersigned proposes and agrees, if this bid is accepted, to provide all necessary machinery, tools, apparatus, and other means of construction, including transportation services necessary to furnish all the materials and equipment specified or referred to in the contract documents in the manner and time therein prescribed.

Further, the undersigned certifies and warrants that he is duly authorized to execute this certification/affidavit on behalf of the Bidder and in accordance with the Partnership Agreement or by-laws of the Corporation, and the laws of the State of Illinois and that this Certification is binding upon the Bidder and is true and accurate.

Further, the undersigned certifies that the Bidder is not barred from bidding on this contract as a result of a violation of either 720 Illinois Compiled Statutes 5/33 E-3 or 5/33 E-4, bid rigging or bid-rotating, or as a result of a violation of 820 ILCS 130/1 et seq., the Illinois Prevailing Wage Act.

The undersigned certifies that he has examined and carefully prepared this bid and has checked the same in detail before submitting this bid, and that the statements contained herein are true and correct.

If a Corporation, the undersigned, further certifies that the recitals and resolutions attached hereto and made a part hereof were properly adopted by the Board of Directors of the Corporation at a meeting of said Board of Directors duly called and held and have not been repealed nor modified, and that the same remain in full force and effect. (Bidder may be requested to provide a copy of the corporate resolution granting the individual executing the contract documents authority to do so.)

Further, the Bidder certifies that he has provided equipment, supplies, or services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

CONTRACT ADMINISTRATION INFORMATION:

CORRESPONDENCE TO CONTRACTOR:		REMIT TO CONTRACTOR:	
NAME	GenServe LLC	NAME	Genserve LLC
CONTACT	Jake Brown	CONTACT	Accounts Payable
ADDRESS	444 Randy Rd	ADDRESS	PO Box 23974
CITY ST ZIP	Carol Stream, iL 60188	CITY ST ZIP	New York, NY 10087-3974
TX	630-462-7280	TX	800-247-7215
FX	NA	FX	NA
EMAIL	Jakep@genserveinc.com	EMAIL	NA
	pmservice@genserveinc.com		
COUNTY BILL TO INFORMATION:		COUNTY SHIP TO INFORMATION:	
DuPage County Finance Department		DuPage County	
421 North County Farm Road		421 North County Farm Road	
Room 2-700		Wheaton, IL 60187	
Wheaton, IL 60187		TX: (630) 407-5705	
TX: (630) 407-6193		EMAIL: mary.ventrella@dupageco.org	
EMAIL: FMAC	ccountsPayable@duapgeco.org.		

ALL MATERIALS MUST BE BID AND SHIPPED F.O.B. DESTINATION, DELIVERED AND INSTALLED (FREIGHT INCLUDED IN PRICE)